N of simulated tracks vs transverse vert position N of associated tracks (simToReco) vs transverse vert position N of simulated tracks vs z vert position

[} C T T T [%2] ] C N N
[} . . . o (0] . .
g 5 5 5 F g P
LT | A e RN g 8 bt e
5 ELT s s R T s O
= E : : : 7] = E - .
Q I~ . . . c Q I~ .
o 3 : : : 8 IS L . .
o H . . o) ~ 3 H H
1045— """"" Frerrereees AR G o 107 Tt Taw T “ -'_'5 """" K
3 : L. 3 : .
- 5 SRS i . .
i : : R e : ’ ’ i T : : :
103 SR R s 10k : ; : TV SRR SRR SEPPR RPN A SRR S
E : : = SEEHE : 7 LS : : :
E : wains™ ° iyl e e ) oy
- D e . . t [] ot
I 3 [ : 110 b
107 ——— i Smntate. step? fthar-phasel-newgeom
° l_W: i — ) —0|xe| CTem ateCutChrsSquar ewg ste 9 t?bar-phas..el-newceqm ] ] _ ]
e : : i kS : : Tl kS i b : E
AL RGN T TR TR S 1111 :|||1n...:uu|||||:
T UL AT H 1l T
0.95 L 4 L L 0.95 i i i

1072 16—1 1 10 10? 1072 16—1 1 10 102 230 -20 -10 0 10 20 30
TP vertr (cm) TP vertr (cm) TP vert z (cm)

| N of associated tracks (simToReco) vs z vert position | | N of simulated tracks vs. sim PV z | | N of associated tracks (simToReco) vs. sim PV z |
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